1 aTtax

D

25 820 N/
X

=
h
w
=

15 520

Tex. —
Xamam ﬁr:)zm / ‘ ‘\

Paspesanka § Cly
L2 vt 2 21
Ho yiweBsas Loglan
p MQ 7.9 M2
= TonoyHas
2.1 M2 =
CnanbHs 6,2 M2 CnanbHs ”—”
18,0 M2 18,0 M2 8,8 M (] B
K anop KomHaTa oTAbIxa
2 :Ha:pﬁaﬁ:
3o M 219 M2 o
T / e == == o @
ex.nomeLieHue = =5 ofl. —
Xo3.6n0K/ noCTHpOYHas gg‘"a””;‘% <isilf
MacTepckas 10,1 M2 = MEE BK . Teppaca
== == M2
12,6 M 2 H ES =
6,2 m2 ' K '
|| YXHAA-rOCTUHasA
L,—H—Q Xonn-
L1 F M4

nepo6 kopuaop
5.9 M4 Mg

CnanbHAa
18,9 M2

AMANSY

6 400

-\\\\\\\\\\\-\\\\\\\\\\\

1




